£6£809T 960ZL 0ES9F SULPIE 00ST = PELEE 0LL8 0Z88 616592 9LZL68 ub 1355pM3D)
S6€T sze 6T 18T 0]3 = £r 9 €T z8¥ 9051 5| eunwng mz
£SEST - - - - - - - - 0082 £592T 48
I9 -- -- -- - -- - - -- 4 34 15 131s5n5
SIIOY - - - - - - - - 0106 SOTTE 48
00T -- -- -- -- -- -- -- - 0T 06 1S puely
965¢Z £68C 052 79£9 e == 00gZ e e = 16701 gL
9zl i1 1 9¢ -- -- 11 -- -- -- 19 1S 13paj10y
£0£601 /8591 - 10T/ - == 0SFT e e SIS/T 05999 18
99 69 = 514 - -- L - - iT1 L0V 15 o8ne1oy
09291Z 1ZE9 - 60E - == == - 00rI 09651 042261 18
652 61 -- Z -- -- -- -- Z 9z 012 15 uasselg
05E¥ - - - - - - - - - 0SEP 13
s - -- -- -- -- -- -- -- -- g 15 addenp
886¥T - - - - - - - - 00¢ZE 88/TT 13
9z - s - - == = - e z vz 1S 9||3404
1941 = 0zL = - = = = = - 069 EL
£ - z - - == == - e == T 1S GICI
090092 - 0061 OrS9E ~ o 009¢ an 00zZ 00S/1 0ZEGET gE] uaydiey
zs s 1 Z1 = = [4 == 1 01 9z 5] -usddnyas
r608Sk 00TST 0LZEY 0S9¥1IT ~ o FET6T 065/ = 0162/ orysg gE] uaydiey
IT1 4 ! 8¢ = = 01 [4 = Fird 91 1S -|98a1dg
96258 aa == 0SET == == 0S0€ == i e 9686/ 18
oF s - 2 == == r; - e - 9E ‘1S lspuez
IT/802 69611 == 0ZELY == = 008T = = 06£8S ZETHE 18
66 g == 82 ~ - 1 s = 5C OF 1S 1Y29H
8EFL0T 97761 == 9115 00ST = = = 00rI 68611 10289 18
rES T1T == L1 0T o g s 14 /9 SZE 1S Yyos.eq
SISFOT = 06£ = == o 0082 0811 0zZ8¢E 5995 0B66E gL
£EE — 1 = ~ - 0] t 91 931 91T 1S ey
‘uey 128eg
24043514 ‘I rqIOY Yie|d 9Z y1=I4
NG 93sA||1L 3Ny 296 "Ylaisapa| |euedge|qy | ‘edequooln USAQH 39S IsusaoH lepals-'g ayis S1unH I955EMaD)

0C0OC DNNLIIMSNVNILSITONYVYA




3 FTT'90/T UOA IYDIMIBIWESID) LUSUIS HW USYDISI{ §ZSZ UOA 38uswBued aule 1q1847 seq

TZELS 960SL 0ES6Y 8PLYTE 00ST -- PETEE 0448 0z88 6£00LT LLYYY6 18]  1assemap
SZS¢ 972 0z 18T 0t = 137 9 (4 905 0TST 15 jwesan
960T/ 0ES9F BULPTE 00ST = VETEE 0448 0Z88 616592 9LZL68 ub 135SpMD)
(Y44 6T I8T o1 = 34 9 £z z8r 904T 5| awiwng Mz
0065 G 000€E 5 g s == i G & 006¢ 18
9 = 1 == = om = i g 1S [29319
= s s ax - o - ans s s ax 18
-- -- -- -- -- -- -- -- -- -- -- 15 95BN
= o s ax - o - ans o s ax 18
-- -- -- -- -- -- -- -- -- -- -- 15 J2punj4
008 - - - - - - - - 00g 005 48
z -- -- -- -- -- -- -- -- T T 15 ayasnesey
89SFT 000€ - - - -- - - - 00s¢ 89061 18
58 1 & 5 5 = = i G 0z 9 1S usjdey
SP6 w5 == = s i -- - = 0zZE 579 18
= -- -- -- -- -- - -- -- z g ‘15 [9SeH
$508 - - - - - - - - 0007 $50¥ 13
€T -- -- -- e -- - -- -- 1 Z1 1S 2920
£089 - s = = == - - .- - £089 gL
0t -- -- - -- -- -- -- -- -- 0T 1S SI9M
0SCTET - - - - - - - - - 0SCET EL
/ - -- -- -- -- -- -- -- -- L et I EN[eINEETEY,
z - P s s - e ws - P . ‘13
-- -- -- -- -- -- -- -- -- -- -- 15 syoe
— = = = = = = = = = = 19
-- -- -- -- -- -- -- -- -- -- -- 15 agJeq
‘uey Jadeg
1IDYISH ‘eqioy Y3l 9z y1o|4
awiuing 29sA|1L a|ny 996 "yJo1sapp| |euesieigqy | ‘odequaoolp uIAQH 99§ J3usAoH lapais-'g ayia] J1uny 1assemon

0C0C DNNLAAMSNVYVNILSITONVA




